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Aim: Simulate First and Follow of a Grammar.

Program :

#include <stdio.h>

#include<string.h>

int numOfProd;

char prods[10][10],f[10];
int m=0;

void first(char a);

void follow(char a);

int main()
{
printf("\nEnter the number of Productions :- ");
scanf("%d",&numOfProd);
printf("\nEnter the Productions :-");
for(int i=0;i<numOfProd;i++)

scanf("%s",prodsJi]);



int choice;

char choi;
do
{

m = 0;

printf("\nEnter the element to find First and Follow :-");

getchar();

scanf("%c",&choi);

first(choi);
printf("First(%c)={",choi);
for(int i=0;i<m;i++)
printf("%c" f[i]);
printf("H\n");

strepy(f," ");

m = 0;
follow(choi);
printf("Follow(%c)={",choi);
for(int i=0;i<m;i++)
printf("%c" f[i]);
printf("A\n");
printf("Do you want to continue?(1/0)");

scanf("%d",&choice);



}
while(choice==1);

return O;

void first(char a)

{

if((a>='a'&&a<='z")| |a=='$")
{

fm++] = a;

for(int k=0;k<numOfProd;k++)
{
if(prods[k][0]==a)
{
if(prods[k][2]=="$")
follow(prods[k][0]);

else
if((prods[k][2]>="a'&&prods[k][2]<="Z") | | prods[k][2]=="$")

flm++] = prods[k][2];
else

first(prods[k][2]);



void follow(char a)

{
if (prods[0][0] == a)
fme+] ='$'

for (inti=0; i< numOfProd; i++)

{
for (intj = 2; j < strlen(prods|i]); j++)
{
if (prodsi][j] == a)
{
if (prodsli][j + 1] !'="\0")
first(prodsli][j + 1]);
if (prods[i][j + 1] == "\0' && a != prods]i][0])
follow(prods[i][0]);
}
}
}



Output:

B Windows PowerShell +

compilation terminated.
PS C:\Users\chaud\Desktop\Practicals\CDL> gcc
PS C:\Users\chaud\Desktop\Practicals\CDL> .\a.exe

Enter the number of Productions :— 3

Enter the Productions :- S=CC
C=eC
C=d

Enter the element to find First and Follow :-
First(S)={ed}

Follow(S)={$}

Do you want to continue?(1/0)1

Enter the element to find First and Follow :-
First(C)={ed}

Follow(C)={ed$}

Do you want to continue?(1/0)1

Enter the element to find First and Follow :- d
First(d)={d}

Follow(d)={ed$}

Do you want to continue?(1/0)|




